SUPPLEMENTARY

Table S1: Correlation table of landscape variables. Variables: distriv = distance to river (km), distcon
= distance to confluence, disttree = distance to tree cover, distkpj = distance to kopje, prey = herd density
(per km?), and rain = long-term average dry season rainfall (cm).

distriv distcon disttree  distkpj prey rain
distriv 0.974 0815 -0.010 -0.010 -0.629
distcon 0.974 0.832 -0.072 -0.645 -0.662
disttree | 0.815  0.832 -0.033 -0.684 -0.626
distkpj -0.010 -0.072 -0.033 0.147  0.022
prey -0.627 -0.645 -0.684 0.147 0.788
rain -0.629 -0.662 -0.626 0.022 0.788




dry season rainfall (cm).

distance to confluence, disttree = distance to tree cover, distkpj

herd density (per km?), and rain

Short-term (2-year) adult female density: Akaike weights (®), plus mean and variance, for

distance to river (km), distcon

each alternative model for each time-step. Note that no rainfall map was available for 2005-6. Variables:
distance to kopje, prey

Table S2
distriv

0L'0 200 €00 200 9L°0 00 OL'0 L0'0 €0°0 LO0 00 000 000 #0°0 SO0 90°0 LO'O 200 ¥0'0 LEO 22’0 utes [dyisip samsip
¥0'0 200 00°0 000 000 000 000 ZL'0 000 000 00'0 000 000 000 ZT'0 LO'O 000 000 LO'0 000 LOO 000 Aoid [dxisip samisip
800 600 8L°0 €00 2L'0 ZL'0 SO0 GL'0 ZE0 Y00 ¥L'0 L0'0 80°0 000 €00 SO0 €0°0 ZL'0 600 200 200 Ulel [dxisip uodsip
S0'0 €00 9L°0 000 000 000 000 ZL'0 ¥0°0 200 000 000 LOO 90°0 ¥0'0 LO'O 000 000 €0°0 000 000 000 Adid [dyysip uodysip
100 200 ZL'0 200 200 ZL'0 L0'0 200 60°0 00 €L'0 €0°0 LOO 000 €00 SO0 220 600 220 200 200  ufes [dyisip Auysip
90°'0 20°0 92°0 000 000 00°0 00'0 200 000 000 LO'0 000 000 LO'0 SO0 LO'O 000 000 LO'0 000 000 000  Aoud [disip ALlsIp
S00 00 100 ¥0°0 L0'0 2T°0 000 LO'0 200 000 ¥L°'0 000 000 LOO 800 ZL'0 000 ¥0'0 200 900 Y00 utes [dysip
200 100 00°0 000 000 000 00'0 000 000 000 00'0 000 000 000 60°0 000 000 000 LO'0O 000 000 000 Aaud fdxysip
910 040 000 €0°0 O¥'0 200 200 LO'0 €0°0 200 800 000 000 ¥0°0 ZL'0 ZL'0 LOO €00 00 LEO ¥S0 ures eaIsIp
€0°0 100 000 00°0 000 000 000 90°0 000 000 00'0 000 000 000 ZT'0 ¥0'0 000 000 LO'0 000 000 000 foud saisip
0L'0 040 000 ¥0'0 €2°0 200 LO'0 20 €£°0 SO0 ¥L'0 Zb'0 ZL'0 000 800 ZL'0 600 9T'0 ZL'0 200 200 ules uodysip
¥0'0 €0°0 0L'0 000 000 000 000 SO0 80°0 LO'0 000 000 200 ¥L'0 ¥0'0 200 000 00°0 200 000 000 000 faud uooysip
SL'0 040 000 €00 ¥0'0 €00 00°0 €0°0 OL'0 800 ¥L'0 S0'0 LOO 000 80°0 ZL'0 090 900 Ov'0 200 200 utes AuISIp
S0'0 200 0Z'0 000 000 000 000 LO'O 000 000 LO'0O 000 LOO 200 90°0 200 000 LO'0 LO'0 000 000 000 Aoud Aysip
¥0'0 €0°0 000 200 ¥0°0 00°0 SO0 ST'0 000 000 €0°0 000 000 000 80°0 200 000 000 Z0'0 000 €00 000 [dssip samsip
800 900 S0'0 TE0 00 000 OL'0 800 LL'O LO'O ZL'0 000 8L°0 €L°0 LO'O LOO 000 000 90°0 000 000 000 [dspsip uooysip
/00 ¥0'0 0L'0 €20 ¥0°0 000 600 LOO LO0 000 6L'0 000 00 LO'0 LO'O LOO 000 000 €0°0 000 000 000 [dspysip AuySIp
800 500 000 80°0 200 ¥0°0 000 LO'0 200 000 ST'0 000 000 LOO 0Z'0 OS0 LO'O SO0 €00 SO0 SO0 ure
200 100 00°0 000 000 000 00'0 000 000 000 000 000 000 000 60°0 LOO 000 000 LO'O 000 000 000 foud
¥0'0 200 00°0 €0°0 0L°0 000 €L'0 000 000 000 000 000 000 000 €0°0 LOO 000 000 ¥0'0 000 LOO 000 [dsppsip
€0°0 200 000 000 80°0 000 LO'0 90°0 LO'0 000 SO0 000 000 000 200 90°0 LO'0 000 200 000 LOO LOO salsip
0L'0 900 ¥0'0 000 ZL'0 000 L0'0 200 €20 LO'0 ZL'0 000 2E°0 OS'0 LO'O €0°0 000 00'0 90°0 000 000 000 uoo}sIp
S0'0 €0°0 60°0 000 80°0 000 L0'0 000 LO'0 000 020 000 €L°0 €00 LO'0 ¥0'0 000 LO'0O Z0'0 000 000 000 AUISIp
¥0'0 20'0 00'0 00°0 6T°0 00°0 Z0'0 000 000 00'0 00'0 000 000 000 €0°0 €0°0 000 000 ¥0'0 000 000 000 lInu
™™ G0z €00Z L0OZ 6661 /66l G66) €66 L66L 6861 /86l G86) €861 186l 6.6l L/6L G/6L £/6L LI6L 696l L96) [oPOIN

as uespy



dry season rainfall (cm).

distance to confluence, disttree = distance to tree cover, distkpj

herd density (per km?), and rain

Short-term (2-year) cub productivity: Akaike weights (®), plus mean and variance, for each

distance to river (km), distcon

alternative model for each time-step. Note that no rainfall map was available for 2005-6. Variables:
distance to kopje, prey

Table S3
distriv
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dry season rainfall (cm).

distance to confluence, disttree = distance to tree cover, distkpj

herd density (per km?), and rain

Short-term (2-year) reproductive success: Akaike weights (), plus mean and variance, for

distance to river (km), distcon

each alternative model for each time-step. Note that no rainfall map was available for 2005-6. Variables:
distance to kopje, prey

Table S4
distriv
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Table S5: Adult female density, cub productivity, and reproductive success averaged over
increasing time-scales vs. distance to river confluence. Only the negative correlations are
quantified (i.e. decreasing density with increasing distance from confluence). Models were
considered significant at p<0.05.

Female density Cub productivity Repr. success
% — effect % sig. % — effect % sig. % — effect % sig.

2year 100 65 90 55 80 35
4year 100 68 95 63 84 53
Gyear 94 72 100 72 89 44
8year 100 71 100 82 100 53
10year 100 81 100 94 100 63
12year 100 80 100 100 100 87
14year 100 86 100 100 100 86
16year 100 85 100 100 100 92
18year 100 92 100 92 100 92

20year 100 100 100 91 100 91



Figure S1. 2-year exponential population growth rate (In(N;/Ny) versus average 2-year female
reproductive success, 1975-2004 (y =-0.1907 + 0.2589x, F 14 = 6.48, p = 0.026, R*=0.35).
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Figure S2. Short-term (2-year) adult female density (females/km?2).
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Figure S3. Short-term (2-year) relative cub productivity.
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Figure S4. Short-term (2-year) relative reproductive success.
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Figure S5. Linear regression of cub productivity and reproductive success versus dry season
rainfall, averaged across the study area within each 2-year period (cub productivity: n = 19
biennial time-steps, R* = 0.41, p = 0.003; reproductive success: n = 19 biennial time-steps, R* =

0.28, p = 0.02).
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